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��(2538) �������������������� !�"�������"�#$��� ����%� $&������'	()� $���*�����+��  !
��,�-�$���������� 
.	
./� !���� ����%���� $����$*��$�(����	"012� 2�� $
�"3 *�����  !
�$���������� 
��14� +�3 ��� ����%� $&������'	()� $  ���4$�,2 3 *5 6.�. 2526  !
��	9"��+
%���� 
$������3 ��� ����%���� $��  0,4��*: �	�;#
�"��43<%�
&�  2�� $
�"0,4�$��% �# �4����/�  3 </��&��+
%���� 
3�%�=% ����%���� $���614�3<%3 ������� 2�� $6�%�$
14$�%���	"012� 2�� $
�"'��3 *�����3 �	���  1  �/�  1  !
� 2��� 	�  ? ;,�*5 6.�. 2528  +
%$�����*��4� &*���	���./� �*:   20  �/�  1  ./� $���������
%� '�-� ����%�  0,4���� ����%� $&�����$��4+$/���3�%��%$�% �%���.����������%�3 �	����%����  40  ./� ����'	()� $3 �$�
��4���3�%��%$�% �.����������%�3 �	����%����  5  ����%  $��43<%���2������?��.��3 �	����%����  10  !
�&"/�����,�-�����*:   2  ./� ��	� �1�  1) �����*��$�(�#*.���&���#*��  2�� $
�"  6"�/�  ���$�%����� 2�� $
�"?��,2 �	"���+
%*��<�<����/�� $����/����� 2�� $
�"3 *�����  &���#*��  2�� $
�"?��,2 ��=/�	"���� 2�� $
�"&������������% 3 *�����  2 ) �������	
.�	.
������4�*��4� &*��  � 14��?�����3<%$��������"�#$��� ����%�&����� �(������"���$���������
%� '�-����?��������"?��$��������"�#$��� ����%�&����� �(���	���'�-���4��$��.$  ���$����3<%$���������
%� '�-� ����%��6�����/���
���  !
�6"�/�  ./� ��� �=%"��!'����14� �%��+*.#�B��	2�.�2   184.895  �%� "���/�*5  !
����14� �%��+*.=/�=%���� 2�� $
�"  �?%����*D??	�������� �=%+
%�	"!���� ����%�&��'���	9 &��.=E�.��.�	.
�������.	��$0,4�+$/$�FG��3
3 ��""���-9��?+
%�	"��*��!�< ���/��	"  35.138  �%� "���/�*5  3 ./� .�	.
�������
%� �=%����$�./� ��� �6�4$�,2 ��/��	"  6.220  �%� "���/�*5  0,4�&.
��/�$���������� 
.	
./� !���� ����%���� $������	9���3�%.�	.
�����
��  � 14��?��.�	.
������4.=E�.��+*?����""���-9��?  $��/�.=���/�./� ��� ����=%������4+
%�	"�6�4$�,2   &���	���'�-�����"��/������� $��&��$	 � �$��/���/��	"  38.50  &��  19.02  ������� ����%�  ����%�������.�	.
����+�% ( ��
	"�
�$ 

 



?��������?���.��H"	" �2���3�%���"�/�  $���������'���	9���+��3 �
��$����3<%$������3
"%���614��#%$�����=%���� $'��3 *�����  &�����3�%���"$�������#%$����
%��������� 
.	
./� ��� ����%���� $�����3�%.�	.
�����
��  &��+
% ��*D??	�3 ������� 
�#*.��� �#*�� ��� 2�� $
�"$�3<%�*: & ����3 ����,�-� 
  ��$(2539) +
%�������,�-�������"����*I
���
.� �%��.����4$��/��#*.���&���#*��  2��$	 *���$  !
�3<%��"".$������4��� 14��(simutaneous equation model)  0,4�3<%��B�����	�.�� %����4.#
.��<	2 (two stage least square model)  ��$;,�����,�-�������� ������
 �������*���$ 2��$	 &�� 2��$	 *���$ 6"�/� 1) �������./� 2��$	 *���$3 ���
��#���6J  �*: *D??	�.���	E��4$�������"�/��#*.��� 2��$	 *���$  �����$�+
%&�/�������./��$�K
;	4����1��3 ���
��#���6J  &�����+
%*��<�<����/��   &��$����$�1
��#/ ��/��	"  -1.9052  1.0964  &��  1.066  ��$���
	"  2) *D??	�.���	E��4$�������"�/��#*�� �1�  �������./� 2��$	 *���$3 ���
��#���6J  �����$��1����� ����%� 2��$	 *���$?���/��*�����  &���/����$�1
��#/ ��/��	"  0.6239  &��  0.1207  ��$���
	"  3) 3 ����,�-�����*��4� &*��$��������4+$/3</'�-��*: $������'�-�  !
���� �(���	���'�-�����"��/����$��������"�#$��� ����%� 2��$	 *���$  �	���'�-�����"��/���� 2��$	 *���$��/��	"�%����  85.50  �$14�3<%$��������"�#$��� ����%�  �$14��
�	���'�-����%����  24  &���
�	���'�-������1���4��
	"�= ��  ?����3�%���� 2��$	 *���$�
���%����  33  &��  45.95  ��$���
	"  ���
%� �#*�� ?�$�����*��4� &*����������
��  27,804  &��  38,715  �	   �$14��
�	���'�-����%����  24  &���
�	���'�-������1���4��
	"�= ����$���
	"  .����	"����*��4� &*�����"��!'�?��6�4$�,2   85,468  &��  119,008  �	   �$14��
�	���'�-����%����  24  &���
�	���'�-������1���4��
	"�= ��  ��$���
	" 
 ?��������?���.��H"	" �2���3�%���";,�.'�6������� ������
  &��*D??	���4������"�/��#*.��� 2��$	 *���$&���#*��  2��$	 *���$  ���������*I
�.�����
.� �%� 2��$	 *���$ 0,4��*:  1 3  23 ���������.� �%���-����4+
%�	"������"?���%�������������������%�!��  �$14��������,�-�����*��4� &*��$��������4+$/3</'�-��*: $������'�-�?�./���3�%�����
�� �#*�� '��3 *������
�� &�����"��!'��6�4$�,2   !
�+
% �����������,�-�$�3<%3 ./� ���*D??	�3 ������� 
�#*.���&���#*��  2��$	 *���$  0,4��*: .� �%���-����4+
%�	"���$�#%$�����</ �
����	"��-�����=%���2��!� $3 *����� 
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�#'���((2544)  �������,�-�������"?������
'�-�'��3�%�%����������������%�!���/��#�.�����$;	4����1��&��.'�6����*��4� &*������%�������
�$�K
;	4����1�� ���;	4����1�� &�� 2��$	 ;	4����1�����+����	������%��*: .$�<��WTO  ?���%���������*I
���
���3�%+���%���
'�-� ����%��$�K
;	4����1��   ���� 1�?�� 	2 �����4���
.� �%���-�����!��$����$�*: �.��$���,2 �K./����/�.�	.
�������+���</ �	   �	2� �2+$/�6���&�/�*: .����#��4���3�%��������/��*������6�4$�,2   &�/�	�����"�/������$�K
;	4����1��3 &�/��
	"  ��$;,�����"�/�.�	.
�������� /�����-9��?�/�� N  !
�3<%& ����$��
3 ������������������"?�����*O�"	����$�%������1�  ��� ���/����$�1
��#/ ��4+
%�	"?�����*��$�(�/�$�&.
��������?	��<��*��?	�-�  �614�3�%���";,�*D??	���4$����B�6�3 ������� 
�	�&*�3 &�/��.$���  �	 .��%� ;,��/����$�1
��#/ ����#*��   �#*.����/�����  &�����./��/� ����3 &�/��.$�����4;=��%��  ?�� 	2 ?,� ���/����$�1
��#/ ��4+
%$�*���#���3<%6�?��(��/�$�	"������4�*��4� &*��+*?�����������
'�-� ����%�  &������6�4$�,2 �������3 ���
!���614���� �(�/�������"��4$��/����-9��?�/�� N  ?��������,�-�6"�/�����
'�-� ����%����3�%������4�������%�����#���
	"���
�
��  ���3�%�������3 *������
��&��*��$�(��� ����%��6�4$�,2   ./���3�%�=%����;	4����1�����+��+
%�	"���.��  3 �������	 �%�$���
��� � �����$& ��������%��.�����*������/�� N ��4���3�%����3 ���
!���6�4$�,2 3 ����.	2   ./����/�.�	.
�������+���1���-�����=%����+
%�	"*��!�< ��=%"��!'�&���#�.�����$ 2��$	 ;	4����1����	"�*: �=%�.����*��!�< � 
 !
������ H"	" �2�%�������B�����,�-��#*�� &���#*.����/�����  &��.$���./��/� ������$�	2� !�"�����'���	9��4$��/�.� �%���-��3 ���*P�"	��'��3�%�%����������������%�!��   

 
 �	E<��(2544) �������,�-�$������&���&0�����	93 �#�.�����$ $���*�����+��&���%������	"�����������%�!��  �614��	
��
	"����#%$����������� 2�� $
�"���*�����+��!
�6�?��(�?��612 ��4��4������.����?  10  ?	���	
  6"�/��/� NPC $����/�  1  �#�612 ��4  &.
��/���?�����"�
�"1� ���
����'	()�  �/�3�%���
���?=�3?.����	"�=%����3 �������������� 2�� $
�"  ./� 3 ������
*D??	���������/� NPI $����/�  1  �#�612 ��4  &.
��/� !�"������	9��4$��/�*D??	��������  �/�3�%���
���"	4 �� ���?=�3?3 ��������������.����	"�=%3<%*D??	��������  &�/�K3�%���
���?=�3?.����	"�=%���*D??	��������  &��6�?��(�3 ���
����'	()�6�%�$�	"���
*D??	��������6"�/��/�  EPC  3 &�/��612 ��4$��/�$����/�  1  &.
��/� !�"��!
���$����	9�/�3�%���
���?=�3?3 �������������� 2�� $
�"  &���$14�6�?��(��/�  EPC  �/�$�	"  DRC  6"�/�������� 2�� $
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�"�614��
&� ��� ����%� $�1 �=*�/�3�%���
���$�.���*���"�<���*���"����"3 �#�612 ��4  � 14��?���/�  DRC  $����/�  1  &�/�	9$� !�"���/�3�%���
���?=�3?3 �������������� 2�� $
�"  &.
��/� !�"������	9�/�3�%���
���$+$/$�*��.��B�'�63 ���?	
.����	6����  3 ./� ���6�?��(���(��	"�����������%�!��  6"�/�*�����+��+
%�	"������" %��$��  � 14��?��$�������#
� # ������� 2�� $
�"  .�$��;3<%�/�+*+
%'��3�%�%������	"�����������%�!��  0,4�����% 3�%�	"*���������	�6	Q �&������#
� # ��4+$/�/�3�%���
���"�
�"1� ���
  &�/����#
� # ���/� �2$�& �! %$�
��  &����?������
����#
� # '��3 *�����&������#
� # ���./�������*�����6	Q �&�%�  0,4��*: *������=%�������3�E/.����	"������� $&������'	()� $  �*: ��3�%����.� �%�3 ���
!��.=��,2   &������.� �%� ����%�(���� c.i.f.) .=��,2 
%�� 
 
 ?��������?���.��H"	" �2���3�%���";,�����#%$����������� 2�� $
�"3 �
��  &��$�������/�� N ��4�	9+
%
��� � ����/�������� 2�� $
�"  &��+
% ��$�������/�� N $�3<%3 ����,�-���	2� �2  &�����3�%��K �/����"�
�"1� ���
?��*: ���?=�3?3�%�=%���� 2�� $�%����������6�4$$���,2 
%�� 
 ��������
�
��� 
 ������������������	��	��	������������ ��! �(Effects of an Import Tariff) (�	 �	�-�, 2545�: 59-62) 
 

 �$14��	�+$/$�����%�����/��*�����  �=*(a) 6�?��(�'������%��/��*��������*����� A � 14��?��.$$��3�% A �*: *�������K�  �.% �#*�� ���.� �%� X 3 ���
!����4*����� A ��<�E��=/?,�$����$�1
��#/ �*: � 	 �� ( ��
	"���� 0PW  ?���=*(b) 6�?��(����
'��3 *����� A !
���$����%��/��*�����+�%
%��  �.%  Dd &�� Sd �1��.% �#*.���&���.% �#*�� ���.� �%� X  ��4����'��3 *����� A  *��$�(������� ���"��!'�  &���������.� �%�?���=/����	"?#

#��'�6 E ����
#��'�6��/��	" 0PE   
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����  ����  Sd PE                                                                      PE                                          E 
 

PT1 Sf+PT1     PT1                    f                  g         Sd+Sf+T1 PT2 Sf+PT2     PT2              h      i                j     k        Sd+Sf+T2 PW    Sf         PW         a    l     b                c     m   d      Sd+Sf  DM Dd  
0               M1        M2      M3  .� �%�X         0      Q1 Q5 Q2                Q3  Q6 Q4 .� �%�X            

 
(a) '������%��/��*�����                             (b) ���
3 *����� A         ���*����� A 

    '�6��4 1  ������"?�������K"'�-�.� �%���%� ��4$�: �	 �	�-� (2545�: 59) 
 �$14�$�����%�����/��*�����&��*����� A $� !�"������%��.��  .� �%� X ?���/��*�����0,4�$������4����/� 0PE(.$$���/���=/��4 0PW) ?�+����%�$�3 *����� A  &���$14� ���.% �#*�� .� �%���%���$�	"�.% �#*�� '��3 *����� A  ?�+
%�.% �#*�� ��$ Sd+Sf ( ���� 0PW  &�����

#��'�63�$/��4?#
 d ( ���� 0PW  *��$�(�#*.�����/��	" 0Q4  *����"
%��.� �%���4����'��3 *����� 0Q1  &��.	4���%� Q1Q4  
 �$14��	9"���*��4� $�3<% !�"������%�+$/�.��  !
���K"'�-�.� �%���%�3 �	����%���� T1  �����K"'�-����3�%.� �%�3 *����� A $�����.=��,2 ?���
�$��/��	"?�� � '�-�  ���3�%�.% �#*�� 3�$/�%��.=��,2 �*: �.%  Sd+Sf+T1  &��$�
#��'�63�$/��4?#
 g  �������'��3 *�����.=��,2 �*:  0PT1  ���"��!'�'��3 *������
���*:  0Q3  �=%����'��3 *����������6�4$�,2 ��/��	" 0Q2  � 14��?������.=��,2   *��$�(��� ����%��
�� Q2Q3   
 ������"��������K"'�-�?�./���������-9��?�/�� N  0,4�&��6�?��(�+
%!
����	�'�6��4 1 (b) 
	� �2 
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 -  �����������?�����+
%(redistribution effect) �����K"'�-�����%����3�%����.� �%�3 *����� A .=��,2   �	2� �2+$/�/�?��*: .� �%���4�����,2 �����1� ����%�?���/��*�����  �=%����$����+
%$���,2   ����$������+
%����=%������4�6�4$�,2 ��/��	"612 ��4 PT1faPW  &����������+
%./�  �2�/��*: �����������?�����+
%  �6����*: ���!� ���+
%?���=%"��!'�+*3�%�=%����0,4���=/3 ��""���-9��?�
����	  
 
 -  ���������#%$����(protective effect) �$14��	�+$/$������K"'�-�����%��=%����'��3 *�����"�������4$��% �# �������.=���/� 0PT1  �%���
*��$�(���������1�������?���  *��$�(�������'��3 *�����?,���=/3 ��
	"�4���1� 0Q1  &�/�$14��	9"����K"'�-�����%�  ���3�%����.� �%���4����'��3 *�����&�/��	 �	".� �%���4.	4�?���/��*�����+
%  ���3�%*��$�(�������'��3 *������6�4$�,2 ?�� 0Q1 �*:  0Q2  &�����3�%���+
%����=%����'��3 *������6�4$�,2 ��/��	"612 ��4.�$����4�$ afb  ���+
%./� ��4$��=%����+
%�	"�6�4$�,2 �*: ���. 	". # 3�%3<%��	6������4$���=/?���	
+*����.� �%���4+$/$����$+
%�*���".	$6	 B�  &�/�	�������+
%�6���$�����#%$����?��'�-�����%� 
 
 -  ��������+
%(revenue effect) ���3�%�	9"��$����+
%�6�4$�,2   ��������+
% �2��/��	"�	���'�-��/�� /���=(
%��*��$�(.� �%���%��	2��$
(PWPT1 x Q2Q3) 0,4���/��	"612 ��4.�4����4�$ fgcb 
 
 -  ��������"��!'�(consumption effect) �����K"'�-����3�%.� �%�����.=��,2   ���3�%�=%"��!'�012�.� �%�+
% %������/��
�$  *��!�< ���4�=%"��!'��.��+*� 14��?��012�.� �%�+
% %����&��012�3 ����.=��,2   ���3�%./� ��� �=%"��!'�(consumer surplus) �
�� 	4 ���  3 ��4 �2&.
�
%��612 ��4.�$����4�$ gcd  &��;1��*: �% �# ���.	��$��/��� ,4���4���
?�������K"'�-�.� �%���%� 
 
 !
�.�#*  �����K"'�-�.� �%���%��/�3�%���
���/�� N 
	� �2 
  
 �=%"��!'��.��*��!�< �      =     612 ��4  PT1gdPW 
 �=%����+
%*��!�< �      =     612 ��4  PT1faPW 
 �	9"����K"'�-�       =     612 ��4  fgcb 
 *����� A $���.#�B��*: �"   =     612 ��4  afb + gcd 
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  	4 &.
�3�%��K �/������K"'�-����3�%./� ��� �=%"��!'�(consumer surplus) �
����/��	"612 ��4 PT1gdPW  &�/*��!�< �����=%"��!'���4�.��+* PT1faPW + fgcb  ���*: ����=%����'��3 *�����&���	9"��  ./� *��!�< ���4.=E�.��+* afb + gcd  ��+*��=/�	"�=%�����/��*�������4���.� �%�3�%*����� A 
 
 �$14�������������������
%� .�	.
�����/�!
�.$$��3�%�/� ����?�?�����%��.��*�����+��$�'�-� ����%� $&������'	()� $ ��� $��3 �	����%���� 6 (��/��	" T1)  &�/�/�$�;=����� 
3�%$�����
'�-� ����%��*: �	����%���� 5 (��/��	"T2) 0,4�./����/�� /�����-9��?�/�� N 
	� �2  ����3 *�����   =   PT2   �#*.�����$'��3 *�����   =   Q6  *��$�(���������$   =   Q5  ��� ����%���$  �6�4$�,2  Q2Q3  �*:  Q5Q6   ���+
%��$�	9"��  �*��4� ?��  fgcb �*:  ijcb 0,4����+
%?��'�-�./�  �2�=%"��!'�3 *������*: �=%�	"'��� 
 
 ���.=E�.�����.	��$�*��4� ?��  afb + gcd �*:  hal + kmd 
 
 3 *���
K ���.�	.
����.	��$6"�/�  �=%"��!'�+
%�	"*��!�< �?��������4�
��  &��*��$�(.� �%���4$���,2 (612 ��4 PT1gkPT2) 3 �������	 �%�$�=%�����.��*��!�< �?������&����������4�
��(612 ��4 PT1fhPT2) 3 ��4.#
.	��$!
���$?�+
%�	"*��!�< �?�����6�?��(�����$�����*��!�< ���4�=%"��!'�+
%�	"  ���$.=E�.�����FG���=%����  ./� ����	"?��'�-�����	9"����4�
�� 	2 ?��*: *��!�< ���4��&�/�=%"��!'�3 �=*�������.� �%�"��!'���4�
��� 14��?���	9"����K"'�-� %���� 
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������������������	��	��������� (Tariff Quota) (�	 �	�-�, 2545�: 67-68) 
 

 ���� ���� 
 SQ Sd Sd+SQ                                                                                                           E 
 
PQ PQ                   a                 b 
PW Sf PW               c    d                 f    g               Sd+Sf  
 DM   Dd  
             0          M0  M1                             Q              0         Q1 Q2                Q3  Q4                Q 
 (a) '�����-9��?�/��*�����                      (b) ���
.� �%� X '��3 *����� 
    '�6��4 2  ������"���!����.� �%���%� ��4$�: �	 �	�-� (2545�: 67) 
 ?��'�6��4  2  (a) .$$��3�% A �*: *�������K�  �.% �#*�� ���.� �%� X 3 ���
!����4*����� A ��<�E��=/ �1��.%  Sf  0,4�� � �	"&�  �  ( ��
	"���� 0PW  	4 �1�*����� A ?�.	4�.� �%���%��*: ?�� � ��/�+��K+
%  +$/$�������"�/����� 

 ?��'�6��4   2  (b) �.%  Dd &�� Sd �1��.% �#*.���&���#*�� ���.� �%� X ��4����3 *����� A �$14��	�+$/$�����%�����/��*�����  ?#

#��'�6��=/��4?#
 E �$14�$�����%�����/��*�����&��*����� A  3<% !�"������%��.��  &��.$$���/�+$/$��/�� ./�  �.% �#*�� ��$3 *����� A �1� �.%  Sd+Sf  ����
#��'�6���.� �%� X 3 ���
!���	"*����� A ?���=/3 ��
	"�
����	 �1� 0PW  *��$�(�#*.�����/��	" 0Q4  *��$�(�������3 *�������/��	"  0Q1  *��$�( ����%���/��	"  Q1Q4  �/�$��	9"��*����� A ���� 
!����.� �%� X  ����%��*:  Q2Q3 �*: ���#���3�%����.=��,2 �*:  0PQ  &���������3 *������6�4$�,2 ?��  0Q1 �*:  0Q2  ./� ���"��!'��
��?��  0Q4  �*:  0Q3  ?���=*?���K +
%�/�������� 
!�������3�%./� ��� �=%"��!'�(Consumer Surplus) �
 %����
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��/��	"612 ��4 PQbgPW 612 ��4���/� �2&�/��./� &� ��.��%� �/�� N ��4���
?��������� 
!����  0,4�$����#����/���
����	"��.��%� ��������K"'�-�����%��#�*�����  .�4���4�/���	 �1�./� ��4�*: ��������+
%(revenue  effect) 0,4��1�612 ��4 abfd  !���� 	2 �	9"��+$/+
%�	"��� ��$1� ��/����K"'�-�  ;%��</  	2 ���+
%./�  �23��+
%�	"+*  3 ��(���4�.% �#*�� ���������
!��$��/����$�1
��#/ �*: � 	 ��
	���4.$$��+�%  &���	9"���6���&�/���� %���4���� 
!������/� 	2 !
�+$/&���&0���/���14   ���+
%./�  �2�K?�����=/�	"�=% ����%�  &�/;%��	9"��3<%��B�*��$=����3 � #E�� ����%�&�/�=%3�%����.=�.#
���+
% �2�K?��*: ����	9"�� 
 �����������������	"#�� �#$�%&���"#"#�� 

 
 3 ����,�-��#*�� ����=%����+
%3<%& ���
���4���	"������� &���#*�� ������$�3<%�B�"��6R�����$�������  3 ./� ���6R�����$������������-�����=%���� 2�� $
�"  !
�& ���
���4���	"�������  +
%3<%SD���<	4 �������0,4��*: ���&.
�;,����$.	$6	 B�����/��*D??	��������&��������  ��1���� 	�� ,4��*: ���&.
��/�  �	���*D??	��/�� N ;=��*��4� +*�*: ������  3 ������� 2�� $
�"*D??	���?+
%&�/ ?�� � !� $ �*: �%  &���#*�� +
%&.
����$.	$6	 B�����������	"*D??	��������
	� �2 
 
 Q = f ( X1 , X2)  !
���4 Q = ������ 
 X1  =  *D??	���������	 &*� 
 X2 = *D??	������������4 
 
 ./� �#*�� ������?��*: ���$.	$6	 B�3 ����B�"��6R�����$����=%����  '��3�%��	����$����#$���������-9��.�������=%����  !
���4�=%����$	�?��������	
.� 3?�����614�3�%���
���+�.=�.#
0,4�6R�����$����	
.� 3?���/� �2$��	�&*���4��
�/�?�$����B�6���/��$� 	�.���	E3 ����B�"������	
.� 3?����������3 *��$�(�/�� N  &�/�	�&*���4$����B�6��/�����	
.� 3?����=%�����K�1�����  
	� 	2 ���$.	$6	 B�����#*�� �������	"*D??	��/�� N  .�$��;���� 
3�%��=/3 �=*&""������$.	$6	 B�
	� �2 
 
 Q = f ( P , PX1 , PX2 ) 
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!
���4 Q = ������ 
 P = ������������� 
 PX1  = ����*D??	���������	 &*� 
 PX2 = ����*D??	������������4 
 
 ����*��4� &*������������?�$������3�%���
���*�	"*��$�(�������  �614�3�%�������3 ��
	"��4�	���+
%�	"���+�.=�.#
  ��$��14� +� MC  =  MR  �1��% �# ./� �6�4$(Marginal cost) ��/��	"����	"./� �6�4$(Marginal  revenue) 0,4�?#
 �2�$��;,��������?�+$/+
%�	"���+�./� ��� ����/�+*  
	� 	2 ?#
 �2?,��*: ?#
��4+
%�	"���+�.=�.#
&�����$���������������������+�?��
��  &�����+�.=�.#
?,��*: ?#
��4���3�%�=%�����%��������*�	"*��$�(�������  
	��</  ����*I
���
 ����%���� $����4$������4���6�4$�,2 $��  &��.�$��;3<%�
&�  2�� $
�"  �K?�$������3�%���� 2�� $
�"��4��-�������+
%�
��  ?,����3�%���
������"3 
%� ���������4�=%����?�������*�	"�
*��$�(���������  ���3�%�=%�����%��.=E�.�����+
%?�����*�	"�
*��$�(�������  &������*I
���
���3�%������4�=%����+
%�	"�
��  ���3�%��+
%����=%�����
�� 
 ����������������%&�
�' 
 
 ������������?�3<%��B�������.;���!
�.�%��.$����614�3<%��������������$.	$6	 B�����	�&*��/�� N ��4 ���4���%����4 ��1���������,�-�  �614����������;,�������	�&*���.��(independent 
variables) ��4$��/��	�&*���$(dependent variable) �/�����*��4� &*������	�&*���.����4���� 
3 .$���?�$���3 �	�-(�3
�/��	�&*���$ 
 
 3 ������� 
�	�&*���43<%3 .$��� 	2   ?����� 
!
����	��R-P�������-9��.���  3 ��14���#*.���0,4��$��;,�?�� � ���.� �%���1�"�����< �
� ,4� N ��4�=%"��!'��%�����012�'��3 ����������4���� 
3�% ( ��
	"�����/�� N �	 ���.� �%�< �
 	2  ��1� ( ��
	"���+
%�/�� N �	 ����=%"��!'� ��1� ( ��
	"�����/�� N �	 ���.� �%�< �
�14 ��4���4���%��(�	 �	�-�, 2545�: 31-36) !
��	�&*���1�*D??	��/�� N ��4$����B�6��/�?�� � .� �%���4�=%"��!'��%�����012�$�� %��+$/��/��	 �	2� �2�,2 �	"6R�����$����=%"��!'�&�/���  0,4�$����������

	��/�+* �2 
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 1. *��$�(012��,2 ��=/�	"�������.� �%� 	2   ��$*����$14�����.� �%��6�4$.=��,2   *��$�(012�?�$� %��  &�/;%�����.� �%��
�4����  *��$�(012�?�$�$�� 
 
 2. *��$�(012��,2 ��=/�	"�. ��$����=%"��!'�&�����$ ��$���� ./� 3�E/3 .	��$  �. ��$��?���4���%���	"���$�=%.,� ��$<$<�"<	4��(�� ,4�0,4��*��4� +*��/����
��K�  &�/"����	2����$ ��$ 	2 �K��=/�� �  
 
 3.  *��$�(012��,2 ��=/�	"?�� � *��<���  ��$*����$14�*��<����6�4$?�� � $���,2   ���$�%�����.� �%�&��"�����?��6�4$��$  &�/����6�4$?�� � *��<����	�+$/�*: ����6���6�  *��<������/� �2?��%��$���� �?012�
%��?,�?�.�$��;012�.� �%�+
%$���,2  
 
 4. *��$�(012��,2 ��=/�	"���+
%�H��4������	���1�   !
��	4�+*�$14�*��<���$����+
%!
��H��4�.=��,2   ���$�%�����.� �%�&��"�����?��*��4� &*��  �1�$	�?��
���"��!'�.� �%�����;=�  &���(��
����	 �K�	 +*"��!'�.� �%�����&6� 
 
 5. *��$�(012��,2 ��=/�	".'�6������?�����+
%3 ��""���-9��?  ���*���P�/�������?�����+
%./� 3�E/�����""���-9��?����=/�	"� ./�  %��  � ./� 3�E/���.	��$$����+
%��4�4��$��.	��$��4$�������?�����+
%3 �	�-(� �2���"��!'��K?�&���/��+*?��.	��$��4$�������?�����+
%��4��/�����$�	  
 
 6. *��$�(012��,2 ��=/�	"����.� �%��14  N ��4���4���%��  ��$*������$�%���������=%"��!'���?. ��+
%
%��.� �%�����< �
  ;%�.� �%�< �
� ,4�$�����.=��,2   �=%"��!'��K?�012�.� �%�< �
 	2  %����  &���	 +*012�.� �%����< �
� ,4�0,4�3<%�
&� �	 +
%  &�/.����	".� �%���43<%*����"�	 &�%�  �$14��������.� �%�< �
� ,4��6�4$�,2 ���$�%��3 .� �%����< �
?��
����$+*
%�� 
 
 7. *��$�(012��,2 ��=/�	"R
=���  .� �%���4$����$?���*: ��4�%��3<%3 "��R
=�����1�"��!���.���$�%���������=%"��!'�3 .� �%�< �
 	2?�$���=/�H6��R
=���������3<%.� �%� 	2 ��/� 	2  
 
 ���.�$��;&.
����$.	$6	 B�����/��*��$�(012��	"�	����� 
�#*.������/� �2
%��SD���<	 �#*.��� 
	� �2 
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    Qx  =  f(Px, A1, A2, A3, A4, A5, A6)  
 !
����� 
3�%  Qx  =  *��$�(.� �%� X 
    Px  =  ����.� �%� X 
      A1  =  �. ��$����=%"��!'� 
    A2  =  ?�� � *��<��� 
    A3  =  ���+
%�H��4������	���1�  
    A4  =  ������?�����+
%3 ��""���-9��? 
    A5  =  ����.� �%��14  N ��4���4���%�� 
    A6  =  R
=��� 
 
 .����	"�/����$�1
��#/ ����#*.���(elasticity of demand) $�*��!�< ���/��$��3 ������������������-9��.���  &�������� !�"��������-9��?��4���4���%���	".� �%� 	2   ��/���1��/����$�1
��#/ �*: �	�&.
�3�%���";,������". �����*��$�(012��/�����*��4� &*������	����� 
�/�� N �</  ���� ���+
%  .����	"3 ��(���4$����
��� � ��?���$������-9��?����/��*����� �</  ��� ����%� ���./����  �K.�$��;3<%���$�1
��#/ �B�"��3�%���";,������". �����*��$�(012��/�����*��4� &*������	�&*��/�� N �</  ���$�1
��#/ ����#*.����/����� ����%����.� �%�&��"����� 
 
 ���$�1
��#/ ����#*.����/����� ����%����.� �%�(price elasticity of demand for import) �$��;,�  �	�������*��4� &*�����*��$�(012�.� �%��/��	�������*��4� &*��������� ����%����.� �%� 	2  
 �%�����������*��4� &*��*��$�(���012� ���$�1
��#/ ����#*.��� �/����� ����%����.� �%� = �%�����������*��4� &*������ ����%����.� �%� 
 

 ;%�.� �%�&��"����� ����%���4$����$�1
��#/ ����#*.����/�����.=�  �$14�����.� �%� ����%��*��4� &*��  �#*.����/�.� �%�&��"��������/� 	2 ?��*��4� &*��+*?���
�$$��0,4�?�$������3�%�#*.����/���� ����/��*������614� ��$�3<%���012�.� �%�&��"�����
	���/���*��4� &*��+*$��  ��1�$��/����$�1
��#/ ����#*.����/�����.=���$+*
%��  &��3 �������	 �%�$���.� �%�&��
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"����� ����%��*: .� �%���4$����$�1
��#/ ����#*.����/������4��  �$14�����.� �%� ����%��*��4� &*��  �#*.����/�.� �%�&��"�����?��*��4� +*?���
�$��K� %��  0,4�?�$���3�%�#*.����/���� ����/��*������*��4� &*�� %�� 
 ����(�#�
���)* )���	+,��� 

 

 3 ����������,�-�*D??	���4$����/��������&����� ����%� $&������'	()� $���*�����+��  !
�3<%.$����#*��  2�� $
�"'��3 *�����  &��.$����#*.������ ����%���� $��  0,4�$����������

	� �2  
 

 1. .$����#*��  2�� $
�"'��3 *�����   
 
  �*: .$�����������614�3<%.����	"�B�"��6R�����$�����-�����=%���� 2�� $
�"3 *�����+��  !
���4+
%6�?��(�&������ 
�	�&*�������-9��?��4��
�/�?�$����B�6��/�������� 
*��$�(������ 2�� $
�"+
%&�/  ���� 2�� $
�"��4��-����+
%�	"3 *5��4�/� $�  &��?�� � !� $3 *�����    0,4����� 
3�%��=/3 �=*&""������$.	$6	 B�
	� �2 
 
 QSt = f ( PR t-1 , QCt ) (1)
     �$14�       QSt = *��$�(������ 2�� $
�"./���%�!���� '��3 *�����3 *5��4 t   
   ( �	  ) 
 PR t-1 = ���� 2�� $
�"��4��-����+
%�	"3 *5��4�/� $� ( "���/���!���	$ ) 
 QCt = ?�� � !� $3 *�����3 *5��4 t ( �	� ) 
     
  .$��� (1) &.
�;,�*��$�(������ 2�� $
�"'��3 *������,2 ��=/�	"*D??	�.���	E�1�  ���� 2�� $
�"
�"��4��-����+
%�	"3 *5��4�/� $� &��?�� � !� $3 *�����  0,4�?��.$��� (1) $�.$$��9� 
	� �2 
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 1.1  *��$�(������ 2�� $
�"'��3 *�����$����$.	$6	 B�3 ����
����	 �	"���� 2�� $
�"��4��-����+
%�	"3 *5��4�/� $� ��/���1�  ;%�*D??	��14  N ����4&�%�  �$14����� 2�� $
�"��4��-����+
%�	"3 *5��4�/� $��6�4$��1��
��  ?�./������3�%*��$�(������ 2�� $
�"��4���.=/���
3 *������6�4$�,2 ��1��
����$���
	"  � 14��?��������4��-��+
%�	";1��*: ���+
%����=%����  &�����������4��-����+
%�	"�6�4$.=��,2 ��-���=%����?�$����+
%�6�4$�,2  ?�./������3�%���
&��?=�3?3 �������������� 
 
 1.2  *��$�(������ 2�� $
�"'��3 *�����$����$.	$6	 B�3 �������
����	 �	"?�� � !� $3 *�����  ��/���1�  ;%�*D??	��14  N ����4&�%�  ?�� � !� $3 *������6�4$�,2 ?�$������3�%*��$�(������ 2�� $
�"�6�4$.=��,2  
 �/����$�1
��#/ �#*��  2�� $
�"3 *������/����� 2�� $
�"3 *����� 
 

%∆QSt ES = %∆PRt-1 
   �$14� ES = �/����$�1
��#/ �#*�� �/����� 2�� $
�"3 *����� 
 
 2.  .$����#*.������ ����%���� $�� 
 
  &.
����$.	$6	 B�����/��*��$�(��� ����%���� $���	"�	�&*����������-9��?��4��
�/�?�$����B�6��	"*��$�(��� ����%���� $�� +
%&�/ ���� ����%���� $�� �	���'�-� ����%���� $�� �	���&���*��4� ��� "���/�
������.��	9 &��*��$�(���$�%�����"��!'� $6�%�$
14$3 *�����  0,4����� 
3�%��=/3 �=*&""������$.	$6	 B�
	� �2 

 
 QMSt = f ( PSt , TSt , ERt , CMt ) (2) 
 �$14�      QMSt = *��$�(��� ����%���� $�����+��3 *5��4 t ( �	  ) 

 PSt = ���� ����%���� $�� c.i.f. (Cost Insurance and Freight) ("���/���!���	$) 
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 TSt = �	���'�-� ����%���� $�����+��3 *5��4 t ( �%���� ) 
 ERt = �	���&���*��4� ��� "���/�
������.��	9 ( "���/�
������ 
   .��	9) 

 CMt = *��$�(���$�%�����"��!'� $6�%�$
14$3 *��������+��3 *5��4 t ( �	  ) 
 
 .$��� (2) &.
�;,�*��$�(��� ����%���� $�����+��  ?��,2 ��=/�	"*D??	���4.���	E�1�  ���� ����%���� $�� �	���'�-� ����%���� $�� �	���&���*��4� ��� "���/�
������.��	9 &��*��$�(���$�%�����"��!'� $6�%�$
14$3 *�����  0,4�?��.$��� (2) $�.$$��9� 
	� �2 
 
 2.1  *��$�(��� ����%���� $�����+��$����$.	$6	 B�3 ����������	 �%�$�	"���� ����%���� $��  ��/���1�  ;%�*D??	��14  N ����4&�%�  �$14����� ����%���� $�����+���6�4$�,2 ��1��
��  ?�./������3�%*��$�(���$�%����� ����%���� $�����+���
����1��6�4$�,2 ��$���
	" 
 
 2.2  *��$�(��� ����%���� $�����+��$����$.	$6	 B�3 ����������	 �%�$�	"�	���'�-� ����%���� $�����+��  ��/���1�  ;%�*D??	��14  N ����4&�%�  �$14��	���'�-� ����%���� $�����+���6�4$�,2 ��1��
��  ?�./������3�%*��$�(���$�%����� ����%���� $�����+���
����1��6�4$�,2 ��$���
	" 
 
 2.3  *��$�(��� ����%���� $�����+��$����$.	$6	 B�3 ����������	 �%�$�	"�	���&���*��4� ��� "���/�
������.��	9  ��/���1� ;%�*D??	��14  N ����4&�%�  �$14��	���&���*��4� ��� "���/�
������.��	9�6�4$�,2 ��1��
��  ?�./������3�%*��$�(���$�%����� ����%���� $�����+���
����1��6�4$�,2 ��$���
	"  � 14��?���$14��	���&���*��4� ��� "���/�
������.��	9�6�4$�,2   &.
��/��/���� "��3 *�����+���/� �/���  ���3�%+���%��?/����� �614�012�.� �%�?���/��*�����3 ����.=��,2   ./���3�%���$�%����� ����%��
�� 
 
 2.4  *��$�(��� ����%���� $�����+��$����$.	$6	 B�3 �������
����	"���$�%�����"��!'� $6�%�$
14$3 *�����  ��/���1� ;%�*D??	��14  N ����4&�%�  �$14�*��$�(���$�%�����"��!'� $6�%�$
14$3 *������6�4$�,2  ?�./������3�%*��$�(���$�%����� ����%���� $�����+���6�4$�,2 
%��  � 14��?�������� 2�� $
�"��4����+
%3 *�����+$/�6���6��/����$�%�����
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'��3 *�����  �$14����$�%�����"��!'� $6�%�$
14$3 *������6�4$.=��,2   �=%�����/�$�%����� 2�� $
�"�6�4$�,2   ��� ����%���� $��?���/��*������K�6�4$.=��,2 
%��  � 14��?��3<%��� $��$����� $6�%�$
14$+
%   
 
 �/����$�1
��#/ �#*.������ ����%���� $���/����� ����%���� $�� 
 

%∆QMSt ESM = %∆PSt    
 ESM = �/����$�1
��#/ �#*.������ ����%��/����� ����%���� $�� 
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